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HINTS & SOLUTIONS

‘Your over-dependence on’ is the correct ‘usage: As
‘dependent’ is an adjective, its noun form-will be used as
a subject.

No error

The word ‘indifferently’ has wrongly been used. It should
be replaced with its noun form ‘indifference’.
‘Everybody’ is a singular noun. Hence, the correct verb
should be ‘knows’, not ‘know’

No error

The proper sequence of sentences to form a meaningful
paragraph will be CFDBAE

B 7.2 E

F 9.(3) D

C

‘match, challenge’ is the correct use.

Match- a person or thing that is equal to another in
quality or strength.

Challenge-a call to someone to participate in a
competitive situation or fight to decide who is superior
in terms of ability or strength.

‘cited, reason’ is the correct use.

Cited- refer to (a passage, book, or author) as evidence
for.

Reason- a cause, explanation, or justification for an
action or event.

‘escape, innocent’ is the correct use.
Escape- to break free, to get out of a situation you don’t
want to be in.
Innocent- not guilty of a crime or offence.
‘setting, improve’ is the correct use.
Setting- the place where something is positioned or
where an event takes place.
Improve- make or become better.
‘behaviour, conclusion’ is the correct use.
Behavior- the way in which one acts or conducts oneself,
especially towards others.
Conclusion- the end or finish of an event, process, or
text.
Refer the first paragraph, because they have millennia-
old attractions (historical Buddhist sites) that have the
potential torgenerate foreign exchange worth $1 billion.
Thefortunes of Bihar and UP will change due to its
Buddhist attractions which have the potential to
generate enough: foreign exchange through foreign
tourists:
Last sentence of the first paragraph contains the gist.
The phrase 'to make ends meet' means to earn
livelihood.
All statements are true in the context of the passage.
Brand Buddha balances the Incredible India campaign
that is directed largely at top-end western markets.
Second/paragraph contains the gist.
Brand Buddha has the power to transform the lives of
millions who have been migrating out of their villages to
cities like Mumbai and Delhi to make ends meet.
HAMSTRUNG means severely restrict the efficiency or
effectiveness of./So, restricted is the word which is
similar in meaning to it.
DETERRED means prevent the occurrence of. So,
encouraged is the word which is opposite in meaning to
it.
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37.(3) Police : i x=58;y=68x<y
Steps: 8 :
Distance: 7 : x=-2,L;y=-2,-3;y<x
i_6 20 x=-2,y=5;x<y
x=147,-1;y=7,9,y 2 x
Speed =28:25 = =7 -11

X=gig ¥ = 8>y

A — 36 4
; Required No. of days = 5¢, X 3¢
n43>144<a —ixs y 2 X 3¢,
A+B+C— 12 12 213!

- E > 3

Expert Remuneration T2
— = X 28,800 = 5 X 2400 = Rs. 12000 =10x3=30

1 CP =11250+ 150+ 800

A+B— 8 3 — 12200
B — 12>24<2 “Required SP = == x 12200 = 14030
c— 12 2 . Total interest earned

(A+ B) work for 4 days = 3 x4 = 12 units =2000+2000+200+4000+400+400+40=9040 Rs.
B work for 2 more days = 2 x 2 = 4 units Letthe no. be (10x +y)

Remaining work done by C alone 10y +x=10x+y— 27
:24716:E:4days 9x — 9y =27
2 2 x—y=3
A— 2 7 Letx=2ky=k

14 “k=3
7 Xx=6y=3

A+B—3 6 k=3

The leak can drain all the water is x=6, ¥ 3,
14 * Required no. = 63
= — = l4hours .. . X
1 Let original fraction = -
¥

Percentage decrease in petrol prices -
Delhi- 4.8%

Mumbai- 3.48%

Chennai- 3.03%

Kolkata - 4.17%

Percentage decrease in diesel prices -
Delhi- 0.46% _ 2 2 _ —
Mumbai - 0.38% T=2X(79)°+2 X (49)* =2 X [6241 + 2401] = 17284
Chennai-3.16% :

Kolkata - 0.40%

120x _ 3
125y 5
40x

25y

Z 3
5 (72)3x(83) _ a9xe4 _
% reduction of petrol prices in Delhi = 4.8% n 56 7 56 s
% increase in the consumption = ?(5— ) =EX616X12><E_17 X 19-81
% redution in petrol prices 480 _308x21 1617

=——= 9 7, = — e
100 — % reduction of petrol prices 95.20 H08 = 323-81 4 404

56

Required average :w: .205 Rs.= 205 paisa

29.015
27.99

Required % = X 100=103.66 %

Difference between profit earned by A and-B in 2003
=250-200=50Cr

In 2004 =300-250=50Cr

In 2005 =350—-250 =100 Cr

In 2006 =400—-275=125Cr

In 2007 =375-350=25Cr

In 2008 =450 —-400 =50 Cr

So difference is maximum in 2006

% age increase in profit earned by company C from 2006

450-300
to 2007 = ——x100=50%
300

0IALIV [V | A

Profit earned by all companies in 2003 =850 Cr

In 2004 =900 Cr In 2005 = 1000 Cr fastest —re

In 2006 =975 Cr In 2007 =1175 Cr champion — nu

In 2008 = 1200 Cr is—li

So profit earned by all companies together is minimum vettel - fo

in 2003 team—jit

Ferrari / was — pil / dil
72.(5)

Profit earned by A in 2005 =250 Cr . 74.(3)

Profit earned by A in 2008 =400 Cr

Difference = 400 — 250 = 150 Cr

250
Percentage = ﬁx 100=66.67 *67%
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76-79.

77.(1)

79.(3) 80.(5)
Number of rooms is not found from both the
statements.
Both the statements do not tell about colour of curtains
on the stage.
From either of the statements we can find the answer of
question.
In 2nd statement, it is mentioned that men become
slaves of habits so we can say that habit’s make men’s
life rigid.
Both the statement do not describe about child ability to
learn.

(Aniket)

Suzuki

VS LML
(Vineet) (Trilok)
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(Prashant)
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Given Word: SUBSTANCE

After rearranging the given word, it becomes
TANCSUBSE

Now, Second from the right is S.

Third from the left is N.

There are four letter between N and S in the English
alphabetical series, ie O, P, Q and R.

Similarly,
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